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QUESTION 1

In a Bridged 1483 network, which set of commands represent an operationally correct configuration for an ATM
subinterface?

A. interface atm 6/0.33 atm pvc 33 0 33 aal5mux encapsulation bridge1483 ip unnumbered loopback0

B. interface atm 6/0.33 atm pvc 33 0 33 aal5snap encapsulation bridge1483 ip unnumbered loopbackO

C. interface atm 6/0.33 atm pvc 33 0 33 aal5mux encapsulation bridge1483 ip address unnumbered loopbackO
D. interface atm 6/0.33 atm pvc 33 0 33 aal5snap encapsulation bridge1483 ip address 0.0.0.0 255.255.255.255

Correct Answer: B

QUESTION 2

Which OSPF router type summarizes network advertisements from one OSPF area into another?
A. ABR

B. ASBR

C. edge router

D. backbone router

Correct Answer: A

QUESTION 3

You would like to configure a fractional T1 interface on a channelized T3 controller with the following
properties: ? Slot - 4 ?

Port - 1 #2 ?

DSO-1-12?

Speed - 64 bps

Which set of configuration commands accomplishes this goal?

A. controller t3 1/4 t1 1/2 dso 1-12 speed 64

B. controller t3 1/4 t1 1/2 timeslots 1-12 speed 64

C. controller t3 4/1 t1 2/1 dso 1-12 speed 64

D. controller t3 4/1 t1 2/1 timeslots 1-12 speed 64
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Correct Answer: D

QUESTION 4

A Telnet user is authenticated using RADIUS and is provided Level 10 access. Which functions does this give the
user?

A. all possible commands including support mode

B. only the disable, enable, exit, and help commands

C. all possible commands with the exception of support mode
D. only the disable, enable, exit, help, and all show commands

Correct Answer: C

QUESTION 5

Regarding L2TP, in which two situations is a service module or service I0A required? (Choose two.)
A. always for LNS

B. always for LAC

C. LAC with fragmentation in the tunnel

D. LNS when there are greater than 2000 sessions

Correct Answer: AC
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